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B.Sc. (Part_II) Examination, 2019

Booklet Code
PHyg1CS
F paper ; 131
(Elements of Quangym Mechanics, Atomic

and Mﬂlecumrﬂ’ec"a)

Time: Three Hours | [ Maximum Marks : 50
Note : Attempt all questions iz ¢ ) v siftrard E| SR S B 3
guestion carries equal mark:Ch M
1. Which phenomenon is nop due to , @ @ e ghE e ¥ HROT QI
tunnelling effect? N 22
(A) p-decay ‘/(,A) p-&rd
(B) Field emission | (B) &F I
(C) Field ionisation (C) &F T
(D) Emission spectrum —° (D) 3T WagH
Ground state energy of three di- 2. A e aEd S $ 3 (FrEan)
mensional harmonic oscillator is : FART B Foll € -
(A) he AA) o
1 v
® 3o ©® Lo
3 .
C) =h
(©) 2 © (C) Ehm
2
(D) E?‘m) 5
2 (D) ho
[1] P.T.O.
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3. Probability of finding particle is :

(A) [y dv

(B) [ww *dy

(C) [’ dv

(D) None of above

4. Find the required voltage to gen-

erate an electron of wavelength
1A with an electron microscope:
(A) 12400 volt
(B) 15 volt
(C) 150 volt
(D) 10* volt

5. Relation in group velocity (vg) and

phase velocity (V) in dispersive

medium is :

dv,
V, =V, =42 —£
(A) g d;_

dv,
(B) Vo=V =T3=

c) v, --v'-—tdV
(C) at

dv,

(D) V,=V, -k i

6. An electron of wavelength 3. is dif-
fracted at angle o by a single slit.
Find the uncertainty in its momen-

tum:
2h
(A) 2hisin0  (B) J—sinn
(C) ghiS'ﬂ” (D) Esinu
246\F (2]

6.

3. mﬁaq‘r&aﬂ#fﬁﬂllaﬁﬁfg :
(A) [v dv
(B Jwv*™
o

(€) [y’ dv

(A) 12400 @IT
(B) 15 drcT
(C) 150 drT
(D) 10* AT :
5. fadira aom & fore S 1 €4 B
37 % dra wa @

dv,

(9} Vgnvp"l—dr
Vv rdV

(B) V = Vp dr

dv,
(C) Vo=V —t+d_tp_

dv,
dk

qended A @1 gAaYH, The WK | 8
B ) Raffa dar 1 g dan A
2
(B)—'}éine
\/ '

(c) sme (D) Esine '

(D) V, = Vk

(A) 2ha sin®
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7. widthin atomic spectra| line i q
. Ue

to :
(A) Sharp energy of Atom;,

states

(8) Uncertainty in enerq,
of

atomic states

(C) Degeneracy of atomic States

(D) L-S coupling

g. A particle is incident on a SQuare
poteﬂﬁa' well. If energies Oof both
particle and potential well are Same

then transmittance s :
(A) 1

(B) 0

(C) 8/9

(D) 9/8

9. Ratio of First, second and third or-
bit radii of hydrogen atom is :
(A) 1:4:9
(B) 1:2:3
(C) 1:0.25:0.11

(D) 1:0.5:0.33

246\F

Mmmﬁﬂ‘lﬁaﬂm

!:

: mmaﬁmmé’r&mm

{B) mmaﬁ’r'ﬁimaﬁﬁaﬁ
&

g
(D) L-Sgmd

7.

vd v anfeR favd I | amgfed
v 21 aft o vd o U & FAA

T B & TR § ¢
Vel

(B} 0

(C) 8/9

(b) 9/8

9. FIERITR W] & W, fida vd gera

T &t | &1 3T @

) 1:4:9

(B) 1:2:3

(C) 1:0.25:0.11

(D) 1:0.5:0.33

P.T.O.
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nu
10. Mass of electron and what
atom ism and M respect'® g under
will be the Rydberg const”

ctiﬂ"‘?
Bohr's nucleus mass corre

R.

———

(A) 1, ™
Y

R,

8 ;.M
m

© R[1+5]

() R,[1+£;]

11. The ratio of stoping potentials for
two colours of light is 3:4, Assum-
ing zero work function of mate-
rial, find the wavelength of second
light if wavelength of first light is

20004 :

(A) 3000A
(B) 15004
(€) 10004

(D) 2667A
12. Under Sommerfeld atomic model,
the energy of sub-orbital are :
(A) Equal
(B) Different
(C) Larger than Bobhr's orbit en-

ergy
(D) Lower than Bohr's orbit en-

ergy
[4]

(B) 1+
( _n_'l]
) R|1'wm,

M
(D) “'[I‘EJ
Wa;z}@ﬁa;%vﬁﬂﬁfmﬂ
W3;4?IW$W3€IF
ﬁmuﬁmmmaﬁﬁtﬁzoooﬁ

a:
(A) 3000A

11.

1500A
(C) 10004
(D) 2667A
12. AREE & WANEE Al & T8,
HeP) ! FA A 2
o
B) 399
(C) aR Fen & FA ¥ ftw

(D) @R @en & Ff A A
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: EN &

3. BY which quantum numbers, Size 13- g . ¢ﬁ$ﬂla§lqﬁﬂﬁﬁﬁﬂ1
and shape of an electron orp; are d IR
defined? o 27
(A) n,. M (A) D m
(8) L, m ‘ @) .'m
(C) m, s (€) m, s

(o) n! yﬂq,l

14. The moment of inertia of a mq,. 4.
=0 3R
ecule about three axes are 1, L e 1, 1 AR L 3 afz 1,
and 1, respectively. If1,=0 and 1 = =1, 32
then molecule is :
(A) W&
(A) Linear
. (8)
(B) Spherical
(C) Symmetric top g‘mﬁﬁ e
—
(D) Asymmetric top (D) 3RwiHA g,
.
15. By which electron transition, the 15. fw sdagE TEHUT BRI firaerfors
vara-feot Jaae At &°

Characteristic X-ray is produced?

(A) WA] B RS BemH S a1
(A) Among inner orbits of atom |
(B) WA & aTEa HEMH & 4G
(C) TRwV] B T vd Fafard derdl
& da

(D) 37wt

(B) Among outer orbits of atom
(C) Between valence and excited
shell of atom

(D) All of above

246\F [5] P.T.O.
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ncy of g i cps S WGP B T
16. If the vibrational freau® 16. 2
)  f, 3RCF |

HICIS and Hicks are f, and & e o f, 907 2

spectively then : (A) f,<f;

(A) f,<f, (B) fl>f2

(B) f >f

1712 (C] f1=f2
(C) £ =f,
(© f1=0'5f2
(D) f,=0.5f,
A @ T A g
17. The rest and kinetic mass of pho- 17. e & a
g ton are . hv
2 hv ( 03#{ Ez—
s (A) 0and =
2 ‘ ¢’
i c? (®) 03K hv
S (B) 0and —
o hv h
§ h (C) IR -7
(5? (C) <and =
o (D) »3R0
% (D) «and 0
18. i@ Fof & RO R 1Y WaE |

18. The phenomenon in which elec-

trons are emitted from metal sur- AT IS & uTl P TEAE
face due to effect of higher ener- (A) IERH T9d
getic radiation, is called as :

(B) @I IWIT

(A) Einstein effect

(B) Compton effect

(C) Photoelectric effect

5 st v

(D) SoE-AEHI E

(D) Photo conductive effect

246\F

. [6]
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19, In photoelectric effect, the ary
' Ph

petween incident frequency of rq

diation and stopping poteny. |
. s

straight line. The gradient of thy
s

line is :
(A) he
(8) h/e
(C) h
(D) e/h
20. The maximum value of COmpton
shiftis :

_h
(A) 2m,c

h
® g

2
(€) m,C

3h

®) e

21. Wavelength of matter wave assgo-
ciated with a moving particle of
mass m is 3 . What will be the ve-
locity of particle?

) =
®)
(©)

(D)

2j= =[2 ~I3

246\F

goma o, fafdwor & amgfa
- i e Fva 3 8 e

(A) he
e
() h
(D) e/h
50, iftram e forenaw & 7 @ :

_h
(A) 2myc

h
(®) e

2
) m,C

3h
(®)

21. SO9M m & a9 $91 ¥ 9EE &A
RN B RS ) B T B QN aar
grm?

(&)
(8)
(© T
©) -

P.T.O.
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ncertainty In 'OCatiun of -
ticte 18 equal to lts de- Broglle
wavelength then the Uncertainy, in
1 velocity (av ) will be :

(A) 2V
Vv

(8 *7n
v
(©) 27,

0 s v
16n

27. The uncertainty in angular POsition
of electron in Bohr orbit js :
(A) infinite
(B) Zero
(C) One
Y
(D) 23
28. The wavelength of wave associ-
ated with particle having
momemtum p is . Then the dif-
ferential equation of wave is :
292
(&) Py+ 220
2.2
(B) Viy+ 4";} v=0
2
2
2
(C) v wzﬂ;:o
22
(D’ v?v + _f__”. - 0
4r? "
246\F

s e 9P B

PR (av) 2T

VR

EV
(B) 2n
s
(€) 4r

Vv
(©) 216

7. @R &e ¥ SoagH & owna i A

sifAfeaaa & -

(A) 3E=

\/97‘{81
(C) &

I
(D) 235

28. AT p alcl BY] | FraE o ol AR

2 Bl A T BT HIFT FHIBIT & -

242
47':2?. v =0

(A) Viy+

] 42°p?
(B) Viy+ ulzlm =0

2
(C) Viy+ ?—-w =0
1

22
(D) Viy+_5v=0
HY

P.T.O.
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29. If the wave functiol 0

ot then the yalue

wave is y = y,e
of Ey will be :

_3!
(A) met
~in OV
(B) i
i oy
) v
i oy

(D) ey

(C

30. Schrédinger equation for free par-

ticle is :

2m(E- V)

A Vzl;r +
( ) hz

y=0

2mE
(B) Viv+STv=0

2m(E-V)
h—z"'_o

(€) Viv+

.2, 2mE _
(D) Viv+ 5=y =0

31. If ywis a normalized wave function

then correct condition is :
(A) [wy=dr=1
(B) Jyy=di=0
(C) fyysdr=w

(0) normalization constant=(

246\F
(10]

st Ll

a’rEwﬁmﬁm:

v
A M

o
B """

2mE-V)., -0
y Vv Y

2mE

) Vvriz ¥ O

Zm(Ez— V) =0

\72
(c) Viw+=—,

AR S
31. kv oF wMRdIgd Bor & a | o

&
\,P(J Jyyxdr=1

(B) Jwyxdr=0

(C) [yyxdr=w

(D) wmRiiER Frais = o

https://www.dbrauonline.com
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e A 7 Fu1 H FaN @
f m
32. ﬂﬁmﬂm??

st is the expectation vy,
0
32: W of @ particle
gme"tum trap

. Peg

. one dimensional box?

i (A *

(Al < )

@ ! (B)

(c) 0 ) 0

(D) 1k . (D) hk . .
. The average motion of Waye aﬁm(aam)a’ﬁsﬂﬂﬂﬂ%mﬂ
” packet agrees With the Motion o 3 e o Y o & wA 8

the corresponding classical particy, a @ fal 3

whose 15 this statement?

. (A) S A 31 R
theory of expectation vajy,

(A (B) IRHIRS FaieH QR
(8) Classical quantum hypothegic o
(€) enrenfest theorem (€) .
(D) Tunneling effect (D) A H‘Hﬁi R
34. Ground state energy of particle jy 34, OO 5a¥ § &< B0 A
nnedimentional box is 37.5eV. Fing £ 73 37.5eV 3 zOF m
s energy in first excited state : aren @ Fall o e :
(A) 300.0 &V (A) 300.0 eV
(8) 150.0 eV (B) 150.0 eV
(C) 75.0 eV (C) 75.0 eV
(D) 37.5 eV (D) 37.5 eV
35. 1f temperature of one dimensional 35. f veerra T afcr & a
linear han'}\onic oscillator is reduces weaR I 27 2 2ferm A == @
to zero then what will be energy 22
?;;0 5;':::01'? (A) Zero
(B) ko (B) ho
L () 3ho
() Ehm 5
3 (D) 2o
(0) -2-hm 5
e [11] p.T.O.
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renc "
oY e

what is the &€ ergf
ween two succesS™ | har

Sfona! i ncy
men uwrfreq ué

monlc

els one di

asciliator having ang

1 he (BJ Mo

(D) 3t

e H in tim
what 15§
=Ey’?

37.
5chrodingér equationHuy

" 2

ET\"2+V
]‘2

2m_;
© 7"V

(C)

38. If low energy particle incidents or
a step potential barrier of high po-
tential then transmittance will be :
(A} Less than zero
(B) Greater than zero
(C) Zero

(D) Infinite

1. If low energy particle incidents on
rectangular potential barrier of high
potential then reflectance wil| be ;
(A) Less than ane
(B) Greater than one
{C) One
(D) Infinte

\r

36. mmﬁmbgﬂﬁﬂﬁam
ooty s 5 < 5 A

3R @ enn?

37, aug fnRk MR THBO Hy =

5 e 8 H3 & PO v D favd D

R fave ey W ufda g &
= oA @

‘A Wﬁaﬂ

(8) = A S

C) I

(D) 3

7T F FIA B D0 0B HH AV B
v fava ek woamofag e 2
A) D F By

B) % A s

) Ush

Dy 344

I f1,
https://www.dbrauonline.com
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reason ben,

. particles fr 's.
e o e, (e T F o T B Sk
o ﬂndlng energy of 1 _
an,, & s = 3
small size of Part, “ 1 i
e

__ gpeman effect
_ qunneling effect
, reflected and tran.

453

IHEAE b

NUICERR

42. 7 i o e et it AT
R e :

ih_and multi-valued . . ﬁ
’ (A) Wad vd TgAH B

) Ky

i of matter wave

and single-valued (@) wm = —

’ .
nlied and multi-valued (C) I T4 T Be

.. D) ad T THEHE B
INUC us and single-va" (

tio I
(13} F

https://www.dbrauonline.com
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(A) 1:137 g
(B) 2:137
(C) 1:274
(D) 274:2

45. What is the ratio of wave 45, mﬁm A W*W St

of first and last spm _ sere v e W Yt & et
Balmer series in hydroger '
spectrum? T S T O
(A) 9:5 (R) 95
(B) 54
{C) 5:36
(D) 36:5
hich of the spectral series isngf ~ 46. B 9 Ragal Aok sres an o
Unid in infrared region? | it et &2 ¥
: series T_ (B) uree Aok
t series 1 AC) T Aok
(D) g St -
https:// E!rauonline:com
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*4 alue of angl.llar (aZi-
antum number for .
sctron having circular paty

) 3.
4 4 (B) 2 |
- AC) 1 |
o (o) gHABE A 1{,,,

I magnetic moment of ' 50. R A () T BE FCH
-wms of Bohr Magne- (1) % @l A g 3 el w
“and orbital quantum e & ¢
. (A) Me JJa+1)

(B) ud

(C) Jﬁﬂ)ln.
(D) J0+ g

(15
https://www.d uonline.com
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prora B IET
o optica 51. wareia §
51  What is the multiplicity (qﬁaﬁﬁﬁ) aar &7
electron system? (A) 1
(B) 2 () 3
(C) 3 4 o T
(D) None of these (D) gﬂm p' > ﬂ'ﬂ"ﬂ g o
52. What will be the spectroscoplc 52 ¥
term for p! electron system? il 3R P52
(A) 2P, and P (A) “Pua Py
]
; 1/2 l 2 (B) IPUJ 3“7 32
(B) Pln and p.hz {CJ‘ IP”: 3"1 1P:|J'2
(C) 'P,, and P
_ o) zpm g IPJ;J (D) P2 3R Py i
~+ n f rﬁ'
E . uz. 2 aﬁ'mémwma
2 53. If 'and g are the orbital and spin 53. L NP
2: angular momentum of electron ool (Raa) Fona Ha &
é then what will be the total angular. 7 g i am e a1 &m?
% momentum vector of electron? -+ -
= i (A) L-
5 (A) L-s . .
=, By 2 ) L+S
5 B Lis © -
o - LS
g (C) (:+s ¥
L] - -
54. The precession frequency of elec-¢ 9. Ry & B A Fovag Be I i
b
tron orbit in B magnetic field is : H@ﬁ' ¢:
ehB ehB
(A) 2zm A Gam
eB 'E'B
B SR
8) 5 ®) 22m
eB eB
©) 4zm (©) 42m
eB eB
(D) m (D) 2m

246\F 6
https:// wrw.dbrauon]ine.com
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many will be the ny,
My

f
.ntiled states of E'ectron

field having t "
petiC 9 totg Quay,
number 5/2?

A 7

8 2

(€) °

(0) 6

If the total quantum NUmber for
an electron is 1/2 then ijts Mag.
petic quantum numbers wil| be -

1 1
A =39
1 .1
(B) "3 2

(c] -1,0,+1
(D) -2, -1, 0,+1,+2

§7. According to which principle "No two

electrons in an atom can exist in
same quantum state"?

(A) Afbau principle

(8) Pauli exclusion principle

(C) Vector atom model

(D) Heisenberge's uncertainty

pnnciple

We\r

. W5i2fﬂﬁmiﬁ
S o a8 foe 5 .
gp?l?
A 7
@ 2
(€) °
(D) 6
aft saaeE & fov o qaes wo 1
o A A gud gEH FCH g

L6.

1 1
(B) 2" "2
(C) -1,0,+1

(D) -2, -1, 0,+1,+2
57 b fagr & waR- o] A
s UB & dEieH e ¥ TE

apd &

(D) Eraat & wfafraaa & Rra-o

P.T.O
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k (B) n=3, =2, s=1, =3

tum numbers for spectral)
3 'p,?

(A) n=3, =2, 5=0, j=2

(€) n=3, 1=2, 521/2, =5/3

02, 1=3, s=1/2, j=5,2

.dbrauonlin =_-€_

8]

(B) 3%,,, »27% " |
(D) 3%, »3%,,

60. Waw 3@wa 3 'D, & fw Faiw
@it n, |, s 3R j & 3 @& @

(A) n=3, 1=2, s=0, j=2 !
(B) n=3, I=2, s=1, =3

UC) n=3, I=2, s=112, 1=5/2

(D) n=2, i=3, s=1/2, j=5/2

_ 18,
: thitps:// .dbrauonline.com
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valence electron,

alkaline atoms are r.

by

¢ for two electron sys-
spin of both elec-
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. dou-
65. Spectrum of alkali atoms aré

blet because

IS
(A) Multiplicity of electron state

lwo
(B) Alkali atom has no valencé

electron
(C) Spin of valence electron is two
(D) Isolopes are present
66 If electron transition occurs from
N-orbit to L-orbit in hydrogen atom
then spectral line is .
(A} Lo
(B) Hp
(C) H
(D) Ka
67. Which 1s the example of
Bremsstrahlung radiation?
(A) LASER
(B) X-Ray
(C) Infrared radiation

(D) p-radiation

t off wavelength of continuoug

3.
Ma

(B) Hp
(C) Hy
(D) Ku
67.  RfoT @ FERVT B €7

AR
(B) X-favol
(C) 3azeh fafdon
(D) p-fafeszor
68. wad X-faxol @& dhwig avnded sa
far e @ -
(A) 5T g gr
(B) Wi &R From ey
(C) & Fam gry

(D) 8 vd &2 fray gry

.dbrauonline.com
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v -
o
L E
-

-‘mm

“ﬁghtﬂﬁﬂl'ﬂt

8) o v & T woagd 2

=R AT G A gdarE B Jam

- faseon @ wftmam aafa 2
eV

(A e

hc

®) e

e
h

ition corresponding
A sristic X-ray

_ - =2

n=1

P
(O¥in=3

T,
ine.com
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has .
73. X-ray absorption spectruf®

7
lines 3.
(A) Only K series of spe<H

(B) Oniy M series of 5ped1" ines
(C) Both K and M series of P
tral lines
(D) Continouys region pounded °Y
sharp edges
74. Appropriate voitage to Dfo‘mm X

ray is : "
{A) 10* voits
(B) 10° voits
(C) 107 voits
(D) 10 voits
75. Iflinear diatomic molecule is 3 rigid 75

rotator then its energy levels will

be : https://www.dbrauonline.com

(A) Continous

(B) Discrete and non-equidistant

(C) Discrete and equidistant

L) Discrete and equally popu-
lated

Wwoo duIjuoneIqp mmm//:sduy

76. The rotational constants of a lin-
€ar diatomic molecule having I
moment inertia s

h
8°Ic

2
8r°1c

(A)

fB)

h.
8=‘Ic

Ehee

(C)

[2

B &

(Y raor Rt A @ e 871 A R

mﬁﬁmmmﬁﬂiwﬁmﬂ
g

(A) 10' dlce

(B) 10° dree

(C) 10° qree

(D) 10 T

afz ¥ faRamops 3] 3% S & @
T A @@ ant

(A) |dg

(B) 39aa vd A

(C) 3Wad ve AR

(D) 3¥9ad vd |EAETT

1 goie e @
h
(A) —
Br lc
h
(B} .
Ba‘lc
h.
1[ )
8r71c

https://www.dbrauonline.com
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80.

-
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pure rotational SPectry,
(A) Ultra-voilet regiqy Jh"’;,: |
(8) visible regq,

(C) Near Infrareq regi,
(D) Far infrareq reguo;
For which Molecyle Dur‘r.
spectrum will not ., " oy
(A) O,

(8) CO

(C) HCI

(D) OH

If inear diatormic
rotator having rotar

B then find wave
sponding electror

second to third o

state -

(A) 2B

(B) 4B

(C) 68

(D) 88

Energy of first excited rotational

state of a molecule is E. Find its

energy of third excited rotationa
state :

(A) 3€

(8) 6

(C) 9

0) 12¢

e\r

80.

(23}

1 gz Pie A A saaga & T F
FTa guts 33 HaEn R Epwur & T
T S

(A) 2B

(B) 4B

‘9'2] 6B

(D) 8B

o] B e T qoiv drawen A S
E &1 35 gda Rfym o e B
F3tt wra Sl

(A) 3E

(B) 6E

(C) 9E

(D) 12E

P.T.O.

https://www.dbrauonline.com

woo surjuoneIgp mmm//:sdny



wod duIjuoneIqp mmm//:sdny

82.

energy state of Vibrating rotatc
.
i is-{B:rotational constan
m = v, /C: vibrational constan|

1
(A) BJU”)”{HEJ
8) thJ(J+1}+hvﬂ(v+:

(cy 280+ 1)+hvm(v +511

(D) 2B(J+1)+ n{vi--zj-'t; 2.

(D) Double band is obtained ‘at

(©) oo VIO D) 4

(D) 550+

If molecule is considered
Vosc then in vibrational speg
(A) Single band is obtain
wave number Cv,,,
(B) Single band is obtaing
wave number v, /¢ |
(C) Double band is obtained
wave numbers v,,. and 2cv,

wave numbersv,/c an

2voe/C

1

1k

AT

(D) 2B(J+1)+

| Lils://www.dbrauonline.coﬁl
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f'ﬂ"w of Electromc (&

" gond! (E,) and rotatignal"}' Yy,
' gl'gi‘s Is: N

{” E, < E,.<E

(B) Ee> Ev> Er

© E=E=E
o) E=E>E
The vibrational intensity, distri

B5- .
in an electronic band ¢, b

Ulioy,

e By.
p|ained by :

(A) Born Oppenheinegr Abpro,
mation

(8) Frank Condon Principje

(C) Isotope effect

(D) Moseley's law

86 Infrared band spectrum can .

explained if molecule is considere-

as '

(A) Rigid rotator

(B) Harmonic Oscillator

(C) Vibrating rotator

(D) Anharmonic oscillator
§7. Different electronic states o7

ecule correspond to’

(A) Different Potential enerd”

(B) Same potential ener

(C) Same dissociation '

(D) Same equilibriu™

distance

246\F

g ), Ut (E) W@
b, gt (E. é i
[E'}ﬁma'lﬁ :

) E=E=E
(©) E.=E>E
8s. e & 3§ sate A freo
& e B N v ¢
(A) @ PR W & O

\ﬁﬁﬁqﬁ@?*m

(C) W ¥ & GRI

(a) g feeffrs A

p.T .

15]
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n Vi~
8
88. The energy differenc® g and . Waﬁsﬁwﬁmmt#ﬁ. v=0
brational level of v elec- oq V=g Eﬂmﬁﬁmﬂmx
v= . corresponding a‘n called IR &) 2.
tronic state of molecul® s TR e
as : ) 5
(A) lonization energy ~ (B) 39w F
(B) E?dlalion energy (C) ferm =51
(C) Dissociation energy
(D) == Fal

(D) Binding energy
89. Rotational and vibrational spectit™ 89. ity vg Fwfre W qra & 8

is obtained if molecule has : afg 3oy :
(A) Zero dipole moment AA) = [A/C) yrqvf e &
(B) Non-zero dipole moment (B) 3m feea gmgot 3@l 2

(C) Minimum reduced mass

(D) maximum reduced mass

90. Electronic spectrum of molecule 'S 90. 3] @ SIS WaH T AR

oo duljuoneIqp mmm,//:sdny

observed in (A) Pz as aF L]
(A) Near infrared region (B) &R 3HaH DR
(B) Far infrared region g . & A
AT 0d
(C) Ultraviolet and Visible region (©) ™
(D) Microwave region (D) ARDIR & A
81 The maximum kinetic energy of 91. UM gﬁagﬂ B st Ft
photo-electron depends on FETE -
A | ion
(A) Intensity of incidenl! radiatio (A) sufaq fafesor & digar «=
(B) Frequency of incident radis
on /é) amufea fafesor & amgfa w
(C) Both intensity and frequenc. (C) @t amufaa fafdwor & dgar vd
of incident radiation
g W
(D) None of above , :
(D) 394 # A Pg A

[26]
https://www.dbrauonline.com

woo surjuoneIgp mmm//:sdny



wod duIjuoneIqp mmm//:sdny

.-||0win9 Partice o4, @M ¥ 3 il ﬁﬂ“ﬂﬁ

ame velocity ha & wag 7 F —

5

gth of wave ass.

(271
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E The e particle of mass m g
b ' dgr Eff
_ what will be the differ,

ntl }
for the wave 4 al
quatio” 5So Clateo

with it -

(" o 2B 3
(8) Vz“”fr'ﬁ(e*ﬁk" n
() -f?w*;'%‘“-‘f’

() -352""*':'1‘*“0

99.

associat"-d with @ moving particie
m? (A:amplitude of wave

of mass

k: wave propagation vector)

hK 5
(A) mﬁz B) e ”

© A0 ma

100.A particle is passing through & rec:

angular potential barrier. In

way, intensity of wave assoCiaitt

with particle decreases with it

of barrier?
(A) Linear
(B) Exponential
(C) Hyperbola

(D) Any of above
246\F

Q .
ect of restoring ¢, ) an

what will be the intensity of wa,.

@ V¥ aml )
d? !_<_ 0
(C) .a—tFlll-f‘mw

ho .2
hk 2 A
(A) _n_{A &) %m
km A2 D) HkmA?
(C] e { hKIMF

100.%&%%’#&1%&4&'@1‘1 IR

Iﬁ%imémﬁma@ﬁﬁm

maﬂﬂa‘:grééwm%ﬂmgﬁaﬁ?

(A)
t. I
\-//(é) GRUIGIEY
(D) Fodeh A B
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